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— M2an By PHY bR a2
When he came to ask about himself and his friend

OVERVIEW

The X3 cited the 7awn of 121 Paw 1w in an attempt to resolve the query of '
717, what is the ruling if the 7X12r7 can only hold one N2, are all of them mMAn”
TN79% or not. "W and Moo disagree as to how this resolution was made. The
X3 first establishes that the nP19nn between °01 "1 777 "1 is where one of the two
people who walked on the 22w, came to ask regarding his status and his friend’s
(who walked on the other 7°2w) status. moon clarifies what this means.

= MINNVT RNTY D10 1N DNNT HNNX NI HNYIY NaY ¥I9Y PN
One cannot explain that the meaning of 1°am H¥1 1HY HRw°H X2 means that he
asked simultaneously about the status of both of them, for in that case all will

agree (even 777 M) that the N7V are NIRMY, and we know this -
- HNN N2 DY HNYIY INAT 19w Yan

With an obvious certainty from the case of where they both came to ask

simultaneously, where we rule that they are xnv —
- 219530 5Y YWY KA 79 INNY 17197109 18Y HY INYY 595913 NIN

But rather the case of 177217 %1 Vo XY X2 is discussing a situation where he
first asked regarding himself and 7''>2 pronounced him =% (since it is a ?90),
and afterwards the same person approached to the same 72 to ask regarding

his friend, this is the case in which >0y "1 7777 " argue -
- 24AN 1992 DNIY Y IRUY 113 HAR N2Y 7Y 171 0T

Where one master (°01° 1) compares it to a simultaneous question (where they

are n1x73u),4 since he asked for both of them in one hearing -
= D7D 1NINYVVY 1993 AT INR N DD 1019 91

' When two people come and ask (even niX naa) we can still imagine that 7" will tell each one (separately) that
since it is a o0, your N1V are MK, but nevertheless the ruling actually is that since they came X'"22 they are nIXnw
(for it is a self-contradiction that both of their n177v are 7N, when we know for certain that one of their n77Y is
nxnw). Certainly in the case where one person comes and asks for a ruling concerning himself and his friend, where
the self-contradiction of ruling them both 770 is so much more apparent, since we are giving a contradictory ruling
to one person that we cannot give such a ruling. In short, if we cannot offer a contradictory ruling to two people we
certainly cannot offer a contradictory ruling to one person.
21t is apparent from MmpoIN later, where he says that it was Tnx Tavna (see footnote # 3), that the case here is where
he came to 7"°2 and asked about himself and 7"°2 was 77vn him, and then he (immediately) asked about his friend.
? See footnote # 2.
* See “Thinking it over’.
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And the other master (7777 '7) compares it to a case of one after the other,
since they already pronounced him 9377, so in this case as well they are both Mv —

mdoIn continues with the concluding resolution of the ¥ 1 regarding the X°¥2°X -
- 55127 HNN N9 1A9NaY YU 922 1) No™

And here too (by the 7X12r1) since we are considering permitting all of the mz2,

it is like a simultaneous situation and they should all be 71372% M 10K, for it is an inherent
self-contradiction to say that they are all MY when there was place for only one ni7d in the
aN1ann —

mooIn anticipates a difficulty with the comparison from 7X12m% to P2°2Ww -
= NNN DY NIN 139399 N2 PPRY 29 by 9N

Even though only one woman is coming before us to inquire on her status alone, so
how can we compare this to the nnX N2 by 122w where he is asking about both of them —

mooin replies:
— HNN N22 O HY HNYIY N2 1IN 51 1PN MIND NAYNY DI 17 929D 0PN Yan

Nevertheless it is comparable, for it is common knowledge that there were
many N7 in the city and when this woman is asking about herself, it is as if she

is asking about all the woman simultaneously (it is like the case which mson negated

in the beginning where he is asking about both of them where it is surely nIxnv) -
— NIDY *213 11 NON)

So in this case where the inquiry includes all the N11712, everyone admits (even '
77v7) that they are 721752 MMOR, because it is like the case which M990 negated in the beginning
where he is asking about both of them simultaneously, where they are surely Xnv.

MBoIN negates *"WIo:

09 %299 Y195 709093 *pnt Banay
And it was for naught that >"'w9 awkwardly explained that they are M7 10X since
the 770917 is like 9910 ', since in this case even 7717 ' is 777 that MMOK 197.

SUMMARY
The meaning of 1°an 51 1%y HRW° X2 is that he is asking consecutively in one 7"2
first about himself and after he is told that he is 7170, he asks about his friend.

> It is like the situation which mpoIn negated in the beginning where it is X0 *X7.
% The >"wn2 is a pm7 (according to '01n) because the X3 does not mention anything that the proof is because 777 ™
*0Y "2 1397 °01 ", but rather it seems that it is ¥"157 XK.
7 xom "2,
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However if he asks simultaneously about the two of them, everyone agrees that
they are Xnv, and similarly by 172 it is assumed that the question of one N5 will
affect all the 13772, and therefore all of them are M710X according to everyone.

THINKING IT OVER

What would be the ruling according to °01° " in the case of 177217 %31 19y PRY°? X212
(and as NMOOIN says TN TAYn1), after they were 2ivn the HXW initially; now that
they cannot be 77vn the second one since it is like "33, will the 7"2 change its
ruling and be &nvn the Hxw?°

8 See mXxmIv Mar N%R 2" 0D Ton mwn and 073K D12 (here) PN T 772,
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